PRE kT AR — e

BlAT % E
e s RO g | SHTHE HTRE | gy | SR gy gy | SOEBRH s
AR (M) (M) AR () G (M)
EIpEgi— s — (WP ER S 2 3,899 3,800 2 9,495 50% 4,747 4,700
JEER S 2 1,056 1,000 2 2,762 100% 2,762 1,500 | sRfn (BUTH O 156
Y el 2 2,643 2,600 2 7,200 50% 3,600 3,600
— % 1 220 200 1 702 50% 351 300
TETY (i) 2 15,862 7,600 2 18,991 50% 9,495 9,400 |BFERSF D215
) (i) 2 7,931 3,800 2 9,495 50% 4,747 4,700 | %7k A4E
INEB) S 2 5,216 1,000 2 2,762 50% 1,381 1,300
E R (420f) e 2 7,931 7,900 2 16,081 50% 8,040 8,000
REAE CFiR) i) 2 3,965 3,900 2 8,040 50% 4,020 4,000
IRHEHE (1/31H) 910 2 2,643 2,600 2 5,360 50% 2,680 2,700
R AR (1/416) el 2 1,982 1,900 2 4,020 50% 2,010 2,000
IREHE (1/61H) 910 2 1,321 1,300 2 2,680 50% 1,340 1,300
REHE O | 1E 295 200 1[8] 482 50% 241 200 |1[=128F(H]
e AN 147 100 1[a] 241 50% 120 100 [1[EI20EfH]
NNEEEN ) i) 2 4,430 2,600 2 5,360 50% 2,680 2,600 |IREAE(40H) 01/3
IMAE E (F-1H) B0 2 2,215 1,300 2 2,680 50% 1,340 1,300
IMEBE —fE(RA)| 1A 295 200 1]a] 482 50% 241 200 | 1[A2/FfE
e ISR 147 100 1[a] 241 50% 120 100 [1[E121E(H]
K7 —v Sl 2 6,458 6,000 2 6,000 100% 6,000 6,000
—fk CRA) 1 269 250 1 274 100% 274 250
—fEUIA) 1 134 130 1 137 100% 137 130
NN 1[8] 392 400 1[8] 510 100% 510 500
= NR— L 2 377 400 2 1,381 50% 690 600
B 1 1,055 1,000 1 1,670 50% 835 800
1 1,055 1,000 1 1,670 50% 835 800
SR E i=3=I)U) 2 5,916 5,900 2 12,061 50% 6,030 6,000
KBRS CEii) S 2 2,958 2,900 2 6,030 50% 3,015 3,000
IR AR (1/416) =l 2 1,479 1,400 2 3,015 50% 1,507 1,500
KB B {CONIRIE 295 200 1[5] 482 50% 241 200 | 1[a] 20
—fCNA) | 1E 147 100 1[a] 241 50% 120 100 [1[EI21E(H]
AMAEE = (42H) il 2 1,780 1,400 2 3,015 50% 1,507 1,500 J{AE ff(42iE) 01/4
IMEEE —fCRA)| 1 295 200 1[a] 482 50% 241 200 | 1[E[2HF[H]
2 %N 147 100 1[m] 241 50% 120 100 |1[E]2MF (]
IR RHE (2if) el 2 5,916 5,900 2 12,061 50% 6,030 6,000
EEAE CF i) S 2 2,958 2,900 2 6,030 50% 3,015 3,000
IR AR (1/416) el 2 1,479 1,400 2 3,015 50% 1,507 1,500
RERE RN | 1A 295 200 1[8] 482 50% 241 200 |1lm12mERH
—MxChA)| 10E 147 100 1[8] 241 50% 120 100 | 1[a]2HEfK]
AMAE = (42ih) i) 2 1,780 1,400 2 3,015 50% 1,507 1,500 | (A (43 01/4
IMEEE —fRCRA)| 1 295 200 1[a] 482 50% 241 200 | 1[E[2HF )
2 %N 147 100 1[a] 241 50% 120 100 |1[E120¢ (]
B (42) el 2 3,557 2,600 2 5,360 50% 2,680 2,600 | FFEU AT = LIREH
B CFim) e 2 1,778 1,300 2 2,680 50% 1,340 1,300
fEwtE —fRCRA)|  1H 295 200 1[8] 482 50% 241 200 | 1[E[2HFH]
2 %N 147 100 1[a] 241 50% 120 100 [1[E12EfH]
1 678 600 1 1,074 50% 537 500
1 527 500 1 835 50% 417 400
WIESFRERE  |[REE (420m) jsgal) 2 5,916 5,900 2 12,061 50% 6,030 6,000
E R CFim) 910 2 2,958 2,900 2 6,030 50% 3,015 3,000
AR (1/416) 1Y 2 1,479 1,400 2 3,015 50% 1,507 1,500
IRE — (RN 1E 295 200 1[=] 482 50% 241 200 |1l=12H]
—CNN) | 1A 147 100 1[8] 241 50% 120 100 [1[E]215fH]
IMAE E (420H) i) 2 4,430 2,600 2 5,360 50% 2,680 2,600
AMAE E Cl1) jSIl) 2 2,215 1,300 2 2,680 50% 1,340 1,300
IIMEBE MO | 1A 295 200 1[A] 482 50% 241 200 | 1[E2MF (]
—MUNN) | 1A 147 100 1]a] 241 50% 120 100 [1[E]205fH
JEER 2 1,056 1,000 2 2,762 100% 2,762 1,500 |ZsiRRn (BUTFHE IO 1.505)
D 1 527 500 1 835 50% 417 400
PNCEIEN S A [N ET) B0 2 5,916 5,900 2 12,061 50% 6,030 6,000
REAE CEi) Sl 2 2,958 2,900 2 6,030 50% 3,015 3,000
KBS (1/40H) el 2 1,479 1,400 2 3,015 50% 1,507 1,500
KB B SN 295 200 1[5] 482 50% 241 200 |1[=128FH]
i NI E] 147 100 1[a] 241 50% 120 100 [1[E121E(H]
AMEE = (420h) i) 2 1,780 1,400 2 3,015 50% 1,507 1,500 J{AE fE(4iE) 01/4
IMEEE —fRCRA)| 1 295 200 1[a] 482 50% 241 200 | 1[E[2HF )
—f OGN 1 147 100 1[m] 241 50% 120 100 |1[E]2M (]
wiEY (4xf) i=g=)U) 2 1,778 1,300 2 2,680 50% 1,340 1,300 |preikassaons Cfm) & R4
HKiEY —fE(CRA)| 1A 295 200 1[7] 482 50% 241 200 | 1[A[21F ]
—Mx RN 10E 147 100 1[8] 241 50% 120 100 | 1[a]2HEf]
KT —v Sl 2 6,458 6,000 2 6,000 100% 6,000 6,000
— (RN 1 269 250 1 274 100% 274 250
5 .3GUN] 1 134 130 1 137 100% 137 130
ro—= 7 L—2 1[7] 392 400 1[8] 510 100% 510 500
RikE 1 603 600 1 954 50% 477 400
% HIE 1 603 600 1 954 50% 477 400
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PRE kT AR — e

BlAT % E
R st RO gy | SO BT | gy | ORI g |y | SR s
AR (M) (M) AR () G (M)
PRI ) RHE (2if) el 2 5,916 5,900 2 12,061 50% 6,030 6,000
EEHE CFim) isgal) 2 2,958 2,900 2 6,030 50% 3,015 3,000
AR (1/416) el 2 1,479 1,400 2 3,015 50% 1,507 1,500
IKHEHE RN | 1A 295 200 1[8] 482 50% 241 200 | 1[a[2MF [
—f A 1E] 147 100 1[8] 241 50% 120 100 [1[H]2HEfH]
BUMEES () | FE0 2 1,780 1,400 2 3,015 50% 1,507 1,500
FHUNMEEE (RN 1m 295 200 1[a] 482 50% 241 200 |1[=12HH]
2 A% NIRE] 147 100 1[a] 241 50% 120 100 |1[E]285 ]
WoMAEE (&) | £FE0 2 1,780 1,300 2 3,015 50% 1,507 1,500
FUMEBE MR | 1A 295 200 1[m] 482 50% 241 200 |1mEl2mR
—f )| 1] 147 100 1[a] 241 50% 120 100 [1[E]2HEfH]
N N 1[8] 392 400 1[8] 510 100% 510 500
E—Fa—h(&im) | FE0 2 2,112 2,000 2 5,525 50% 2,762 2,600 |&"—F=—h (1) D2
E—Fa—hCER) | BYIY 2 1,056 1,000 2 2,762 50% 1,381 1,300
E—Fa—h —M (KA 10l 200 18] 482 50% 241 200
e NI 100 1[a] 241 50% 120 100
L = 1 1,357 1,300 1 2,148 50% 1,074 1,000
B 1 1,357 1,300 1 2,148 50% 1,074 1,000
TE BN | ERY 2 3,899 3,800 2 9,495 50% 4,747 4,700
TETNY (20f) 2 15,862 6,000 2 15,192 50% 7,596 7,500 | B ERGO1. 6
TEE Y (i) 2 15,862 3,800 2 7,596 50% 3,798 3,800
AV S FFERS 2 3,899 3,800 2 9,495 50% 4,747 4,700
JEER Gy 2 1,056 1,000 2 2,762 100% 2,762 1,500 |ssigm (BATRE RO 1.565)
R R 9 A B BT B | BT BR 45 2 3,899 3,800 2 9,495 50% 4,747 4,700
JF S 9 B 55 | R B B 2 1,056 1,000 2 2,762 100% 2,762 1,500 |siifn (BUTHE RO 1.5(5)
FILAGERS | T ek 2 2,660 2,600 2 2,770 50% 1,385 1,300
HAROAATES S 2 2,660 2,600 2 2,770 50% 1,385 1,300
FEROAR AT B85 | T8k ) (4xii) 2 10,851 10,000 2 18,991 50% 9,495 9,400 | FIFFEBNS L IRAE
RIRE T ) 2 5,425 5,000 2 9,495 50% 4,747 4,700
FAOD s A EEER S | REBK G 2 1,056 1,000 2 2,770 100% 2,770 1,500 |z (BATHE RO 1.565)
FERART— [F—1 — &k (RA) 2 495 400 2 510 100% 510 500
—M BN 2 247 200 2 255 100% 255 250
) 2 30,000 30,000 2 37,500 100% 37,500 37,000
FEHFRA T — L R T —L — M (RA) 1 269 250 1 274 100% 274 250
3 3CNI 1 134 130 | 1.00 137 100% 137 130
el 2 6,458 6,000 2 6,000 100% 6,000 6,000
AT — (KA 1 269 250 1 274 100% 274 250
—MOHA) 1 134 130 1 137 100% 137 130
i) 2 6,458 6,000 2 6,000 100% 6,000 6,000
AR —L 3,000 P4 il % - 2,500 2,500 - 2,500 100% 2,500 2,500
1,500 i) 5 - 1,250 1,250 - 1,250 100% 1,250 1,250
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